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~  (M.Padberg-G. Rinaldi)
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f(z) = 3z* — 423 — 1222 + 3 7

-10¢

= f/(x) = 1223 — 1222 — 242

-30¢t

= 12z(x + 1)(x — 2)
= fl(x)=0 & =0, -1, 2

= f(O):S, f(—l):—Z, f(2):_29

f(z) = 3z% — 423 — 1222 + 3 + 0.01z

= f/(x) = 1223 — 1222 — 242 + 0.01

i = 12z(z + 1) (x — 2) + 0.01

= fl(z) =0 & z =07, —17, 27

= f(07) =37, f(—17) = =27, f(27) = —297
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f(@) = (@) + f@)(@ — @)+ f"(@)(@ — ) + -
~ C + B(x—a) + A (z—a)
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L == a — a
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f(z) = 3z% — 423 — 1222 + 3

= L1 = Lk
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L] [

k CEk

0 3.00000
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f(x)

000o0g z*

fz)0 z*000000000 = z*

f(z*) < f(z*) 000000 (z* 0000O00O)
x*=2® 00000S10
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